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1\) The Boolean Expression Corresponding to a Circuit

! Combine from left to right..
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1. ldentify the rows where the Output is 1. v
— 2. For each such row, construct an(AND expressionjthat

produces a 1 for the exact combination of input
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19 \1’ For each of the tables in 18-21, construct (a) a Boolean expression
P [ R 5 having the given table
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P [ R 5 having the given table
——oa NS A~R
W@ ?—/) f e ( NR) \/(P/\NS/\NR)\/&V\O/\S/\M@
_— PABA
OO PASBANR - 2D
0 DO—~PANDANR /—>
I A

— ! From outer to the inner; from right to left
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